2 2
X+ X+VY+ 2X

(a) 5x + yz
(b) 4xC+ y2
(c) ¥+ 3% + y2

X+3x(10+y)-7x-vy
X+30+3y-7x-vy
X-7x+3y-vy+ 30

-6x + 2y + 30




1. Simplify y +y

(1)
2 Circle the expression thatis equalto y +y +y —y
4y 3 ( 2y ) y?
(1)

3 Simplify 4c¢ + 2c¢

4 Simplify 8x —2x + 4x

N
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(a) Simplify a+4+a+a

=

(b) Simplify 4a+3a—a

(c) Simplify 4ac + Sac

(d) Simplify 4c¢ — 6¢

(e) Simplify a*+ a?

© Corbettmaths 2022
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6.  Simplify 6y —5 + 2y
=
N TE
(1)
L (a) Simplify m+m-+m-+m
z
Am
(1)
(b)  Simplify 8c +2p —2c+4p
Ser6p...
(2)
8.  Simplify 3x +4—x+7
T
2l
(2
9. Simplify 6a + 5w —2a+w
i ot 6w
= 2(2ar 20)
2(2ar3w)

The Maths Society (2)
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10.  Simplify

Ix—4y+8x—y

19— 9y
2 9 (3:.—3\

11.  (a) Simplify 9y — 3y

(b) Simplify Ty + 2w — 3y + 2w

“‘3 \'L\D

(c) Simplify 7y +104+3y-9

Simplify 4x + 7y +x — 4y

The Maths Society
© Corbettmaths 2022



13. Simplify Sx+y—2x+y

(2)
. Simplify 3¢ —10d — ¢ + 4d
De-6d
2 2(c-3d)
2(c-3d)
(2)
. Simplify 20x + 3y — 8y —7x
' 3 )% - 53
13x~5y
(2)
. Simplify 8x — 6y + 3x — 3y
z
llxe =%
(2)
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17. (a) Simplify St S S 8 — 8

(1)
(b) Simplify S5c—3s+3c+7s
¥etys
a 4 (2ers)
YH(2ers)
(2)
(c) Simplify 8a + 3c — 5¢ + 3a
(2)
(d) Simplify 3a+2w —5a - 9w
(2)
(€) Simplify 3y2 + 2w? + y2 — w?
Yyt ro?
(2)
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18. (a) Simplify 2x+ 2x

(b)  Simplify 7w —2w

(c) Simplify 3m —m

(d)  Simplify y>+y% + y?

(e) Simplify 7h+ 5k +h — 3k

Shr 2N,
2 2.(4hHh)

© Corbettmaths 2022
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Troy is simplifying o

Wil o

He says the answer is Dx®

Explain why Troy is wrong.

2Xx

Find an expression, in terms of x and y, for the perimeter of the pentagon.

24+ U2
2 (yr2x)

© Corbettmaths 2022
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Shown is a equilateral triangle.

=)

2xX +y

The length of each side is 2x +y

Find an expression, in terms of x and y, for the perimeter of the triangle.

3(11&3\
2 Gactrdy
Cxrdy
(2
22. Shown is a rectangle.
z
2X+7
X+ 3
Find an expression, in terms of x, for the perimeter of the rectangle.
202xr?) F20G-2)
2 Yy 26
R 6xt+20
Car20
(2
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23.  Simplifyfully 2x?>+3x—-1—-x>+2x-5

s -8z ~6

24. Below is a parallelogram and an isosceles triangle.

=
6x +7

2x/ /

Which shape has the greatest perimeter?
Show your working.

7x+5H

2x + 3

2(2x) ¢ 2062 Hyx 1122 4
2 |6xrY

2 UG F 2or-3 = VHxHIO F2ard
2 |13

V6aerHy Y Vo'

ercllelo 9ram
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© Corbettmaths 2022



2l

3x+3 Aser!

3x+1

Find an expression, in terms of x, for the perimeter of this L shape.

e}~ 2ok |
o+ = (er2)2 3ar3~2-2 72 2ot

Pen'\ melerz Batrd r3xrl Fr2r 2A(2u) 2

2 Kh‘rg lluk%'

26. Here is an equilateral triangle and a regular pentagon.

2x + 30

The perimeter of the two shapes are equal.
Find an expression for the length of each side of the regular pentagon.

3(2x+30) = 6a+q0

Gxr0 . 6 ,

) x g
S 5
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27. Expand and simplify 3(x + 6) + 8

et lE+E = Der26

28. Simplify fully 9(y —2) +4y +3

q“-—\ff + "'ls L)

- 133 -5

29. Expand and simplify S(x + 3y) +2(2x —y)

50'-—\455 Fqo0 -—1\\)

>~ Qx \—B:;

N34-18

(2
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30. Expandand simplify 3(4x—1)—2(x+4)

\ 23~ =2 %

2 0y 1)

31. Expand and simplify 3(4x + 8) — (7x — 2)

’
12+ 24 =T2r 2

2 926
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